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Rx© = (—00,00) X (0,10) x (0.1, 00)



MLE falils

n=1x] ==

N2
log p(x]0) = —($2ag) —logo —log v2r

O0< <10

o> 0.1

0= (a,6) =(x,0.1), ifO<z< 10 overfits!

NO error
bars!



Bayesian recipe
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The honest
answer






A= als(pr 7;71') + 1 (w:m)

(z,p) independent!

lgnorance = Independence &
Uniformity

spread
concentrate

L%

Special case: d =v =20

a{lg) =TI (t% : p%m) > I(t%05 : p¥65)
’ A =T1{% : p?w)

(z,p) independent!






born

Past
singularity

Info

you are

here!
bio is

here! _
the universe is

here!

dead

Future
singularit
y
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